
YOUR LOYALTY AS A CUSTOMER IS GREATLY APPRECIATED - ARTWORKBODYSHOP.COM

ASSEMBLY  INSTRUCTIONSNISSAN Z 2023+ • FRONT SPLITTER

Front of the vehicle

1-3/8"
1-1/4"

SPACER A SPACER B

Front of the vehicle

1-5/8"
1-1/2"

M6
45mm

M6
45mm

Ultra
Flat

30mm

Ultra
Flat

30mm

Ultra
Flat

30mm

M6 Phillips
Screws
70mm

M6 Phillips
Screws
70mm

Align with
factory
holes

Align with
factory
holes

Align with
factory
holes

3/8"

1/4"
1/2"

1/4"

3/8"

M6
45mm

M6
45mm

Ultra
Flat

30mm

Ultra
Flat

30mm

Ultra
Flat

30mm

M6 Phillips
Screws
70mm

M6 Phillips
Screws
70mm

Align with
factory
holes

Align with
factory
holes

Align with
factory
holes

1/4"
1/2"

1/4"

Ultra Flat Head 30mm x 6

PARTS LIST

M6 Bolts 45mm x 4

M6 Phillips Screws 70mm x 6

M6 Lock Nuts x 10

1/4" Round Spacers x 4

Angled Spacers A x 4

M6 Hex Key x 1

Angled Spacers B x 2

3/8" Round Spacers x 2

1/2" Round Spacers x 2

HOLE A

HOLE B

HOLE C HOLE C

HOLE B

HOLE A

M6 Phillips
Screws
70mm

M6 Phillips
Screws
70mm



1.
2. If you have the Performance chin spoiler, drill the rivets (x13) to remove them 

with a 1/4'' drill bit like image #2.

3. Install the splitter on the car with the back holes only (A-B-C). Do not forget to 
install the spacers at proper location like diagram shows.

YOUR LOYALTY AS A CUSTOMER IS GREATLY APPRECIATED - ARTWORKBODYSHOP.COM

INSTALLATIONNISSAN Z 2023+ • FRONT SPLITTER

**CAUTION: PROFESSIONAL INSTALLATION IS STRONGLY RECOMMANDED**

1. Remove the 10mm hex bolts under your bumper (x10) Refer to image #1 to 
locate them.

IMAGE #1



1.
2.
3.
4.
5.
6. Make sure everything is tight, take pictures and send it to 

info@artworkbodyshop.com and make sure to tag us on social media 
@artworkbodyshop.

1.
2.
3.
4. Each M6 screws goes in factory holes by the bottom. Install the remaining 

hardware by respecting the spacers location and bolt size. You need to place 
the nuts inside the bumper over each screws by accessing inside at the back 
of the bumper where you previously removed the 10mm screws.

5. Tight the phillips screws and allen screws by the bottom, and reinstall the 
factory hex bolts at the bottom.

INSTALLATIONNISSAN Z 2023+ • FRONT SPLITTER

**CAUTION: PROFESSIONAL INSTALLATION IS STRONGLY RECOMMANDED**

IMAGE #2

YOUR LOYALTY AS A CUSTOMER IS GREATLY APPRECIATED - ARTWORKBODYSHOP.COM


